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<Abstract>

2004 Awareness Survey of Students

Ko, kang-ho, Kim, Doo-Hwa, Kim, sung-hyun

This study is to understand views and opinions of students on the general policy of
Cheju National University (CNU) and ultimately provide basic data which can help
university authorities establish policy and improve guidance and educational programs
for students.

For this survey, 105-item questionnaire was distributed to 1,117 students of the
university.

Data was analyzed by college, by academic year, and by sex using SPSS Method.

The results are as follows.

1. About personal life and views of life

As the most important thing in life, stable life (22.1%), exertion of one's ability
(17.7%) and happy family life (13.8%) were picked. The most important attitude as a
college student is trying to become a well-educated intellectual (31.9%) and laying the
foundation to become an able member of society (44.5%). Daily computer use time is
1-2 hours on average (39.7%). Monthly reading volume is one book (45.5%) and two
books (14.6%).

Given the result, students think leading a stable life and preparing building blocks to
become a member of society are very important, but they do not spend enough in
reading. The authorities need to open and run programs to encourage reading, and
students also should realize themselves.

2. About scholastic performance

61.3% of the students are satisfied with the study of their major. About the reasons for
the dissatisfaction with their major, they answered subjects do not live up to their
expectations (16.8%) and the major does not fit their aptitude and interest (14.1%) and
they lack learning ability (11.7%). Questioned about whether to transfer to other
department, 53.6% want transfer. The reasons for transfer are to extend chances of job
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seeking (31.2%), much interest in other studies (19.4%) and to complement the current
study (15.3%). This result indicates that students think their major does not matchtheir
aptitude. So, students should be more careful to decide their major considering one's

aptitude and future career.

3. As for campus life

What they are interested in regarding the university are the easiness of employment
(22.5%), the prospect for the future (13.9%), commute distance (10.8%) and the
possibility of university development (10.0%). The results show that students relate the
meritsof the university to whether they can get a job or not. So, relevant programs
should be carried out in line with their demands.

4. About administrative service and university development

Questioned about in-campus facilities for students, 46.3% expressed their satisfaction
and 40.8% said so-so0. As to hat should be improved in the cafeteria, they replied not
tasty food (29.3%), not wide menu (28.5%), and poor quality (9.0%). So, food quality
and menu should be improved.

5. As to course and career after graduation

Most students (74,8%) want to have a job, and some (12.7%) want to study abroad.

The most important factors to get employment are foreign language ability (47.8%),
certificates of qualification (23.2%). They get information on employment on the
internet (41.3%) or from friends or relatives (28.5%); it turned out that job information
provided by CNU is not delivered well to students.

6. About social problems

CNU students think the most serious social problems are wealth discrepancy (42.5%),
corruption and irregularities (12.9%). As to equal opportunity, 22.5% said think so,
37.7% said not so. As for legal justice, 17.6% said laws are fair and 37.0% said not fair

largely negative about the fairness of laws.

7. About Consultation and Service Center

Questioned bout the center, 56.2% said they heard about the center but never used it
and 24.3% answered they neither heard about nor visited it. This means the center has
yet to get familiar with students. The center should promote itself to attract more
students.
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